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ERET FEEKPBREHRE 1/2
No. A1 FIES kAR EER] EARMESEE i EEEEAE B ER | B [#Eekesases aeses BEAEKE| BEM DR ES BE
HEE RN Eix| #K - mK B [BRER 1.00~ 1.20 0.20] 1.10] 4.46] 5.96| 6.17 mEE @ AIET
21;E 501 Z A HiE | @K@K B [EAEE 0.80 ~ 1.00 0.20/ 0.90/ 4.30/ 5.80] 6.02 =i BRI
FEEA kiF 0 &Ffr 0.00 km
BEF 0 &Fr 0.00 km
— T km
FEEB ki 1 &Ffr 0.20 km
BEF 1 &fr 0.20 km
— T km
RIEEEN RN Er| RHhmK B |[= 10.00 ~ 12.12 2.12] 11.06] 27.76] 29.26] 29.74 BE LEAA
41BRI BRI F| E&ERK B |= 12.20 ~ 13.20 1.00] 12.70] 32.92| 34.42| 35.26 =EE  [JERIET
5[;ERIN EAI F| BERK B |HRER 18.40 ~ 18.60 0.20] 18.50| 54.04| 55.54| 56.37 WEE | BAIET
6;E R0 RN F| EERK B [EAAR 1.60~ 1.61 0.01| 1.61] 4.83] 6.33] 6.79 =g BRI
XN ERI AE| RBRERK B [HiER 5.00 ~ 5.20 0.20] 5.10[ 10.81] 12.31] 12.96 =EE  [JERIET
8 BRI RN BE| RBRERK B [FEHI 9.20 ~ 9.40 0.20| 9.30] 21.97| 23.47| 23.95 =8 BRI
R EAI BE| BERK B | L&A 13.00 ~ 14.60 1.60] 13.80] 37.38] 38.88| 39.81 WEE | BAIET
[N ENL BE| BRERK B | EEZI 16.00 ~ 16.20 0.20] 16.10| 45.87| 47.37| 48.40 WmEE B AIET
TTERI RN BE| BERRK B | EEZI 17.00 ~ 17.19 0.19] 17.10] 49.12| 50.62] 50.93 e B AIET
FEEA kiF 0 &Ffr 0.00 km
BEF 0 &Fr 0.00 km
— T km
FEEB kiF 3 BAT 3.32 km
BEF 6 BRT  2.40 km
— T km
123 A A T e | b M i K B | LBl 71300 ~ 14.60] [ 1.60] 13.80] 37.38] 38.88] 39.81 T EEY D R R
FEEA kiF 0 &Ffr 0.00 km
BEF 0 &Fr 0.00 km
— T km
FEEB kiF 0 &Ffr 0.00 km
BEF 1 &Ffr 1.60 km
— T km
IKEX R = | JKTE - iR B [ZAlER 2.00 ~ 2.20 0.20] 2.10] 5.27] 6.77] 7.29 BE LEAA
T4[E R BRI EiF | K - kiR B [EAER 540 ~ 5.60 0.20| 5.50| 11.78] 13.28] 13.71 WmEE | BAIET
15 ;BRI RN | KE - %R A |E 13.20 ~ 13.40 0.20] 13.30/ 35.15| 36.65|- =g BRI
16 B A1 BRI F | KE - %R A B 14.40 ~ 14.60 0.20] 14.50| 39.74| 41.24[- =EE  [JERIET
(R BRI | KE - %R A EE 15.80 ~ 16.00 0.20] 15.90| 45.18| 46.68|- =EE  [JERIET
18 ;BRI RN | KE - %R A |EE 16.40 ~ 16.60 0.20] 16.50] 47.51| 49.01[- =g [JERIE
19 BRI | KE - %R A [FRER 18.40 ~ 18.60 0.20] 18.50| 54.04| 55.54| 56.37 WmEE | BAIET
2051011 RN F | KE - %R A [EBRIBRR 0.40 ~ 0.50 0.10| 0.45| 4.04] 5.54] 5.82 =8 BRI
217BRII RN F | KE - %R B [EAARF 1.60 ~ 1.61 0.01| 1.61] 4.83] 6.33] 6.79 =8 (BRI
22511 BRI R | KE - %R A |FiER 5.80 ~ 6.00 0.20] 5.90] 12.66] 14.16] 14.60 =EE  [JERIET
23[;E RN BRI HE| KE - kR A [FER 6.40 ~ 6.60 0.20] 6.50/ 14.10] 15.60] 15.73 =EE  [JERIET
24GE RN BRI HE| KE - kR B |HiERl 7.40 ~ 7.60 0.20] 7.50| 16.68] 18.18] 18.61 =EE  [JERIET
258 R1)II RN HE| KE - kR B [HiEHI 9.40 ~ 9.80 0.40| 9.60| 23.18| 24.68| 25.06 =g [JERIE
LN EAI HE | KE - %kiE A | EER 14.00 ~ 14.20 0.20] 14.10] 38.14| 39.64| 40.52 WmEE | BAIET
27BN BRI BE | KE - %R A | EERI 14.60 ~ 15. 40 0.80] 15.00| 41.59] 43.09| 44.15 =EE  [JERIET
28GRI BRI HE| KE - kR A | EERI 17.60 ~ 18.00 0.40| 17.80] 51.62] 53.12|- =EE  [JERIET
298 51)11 RN HiE | KE - kiR B |EEH| 18.40 ~ 18.60 0.20( 18.50| 54.04| b55.54|- =8 [JBRIET
FEEA ki 5 AT 1.00 km
BEF 6 BRT 1.90 km
— T km
EEEB ki 2 &FRT 0.40 km
BEF 4 &HFF 0.81 km
— AT km
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BAIET BEKPRERE 2/2
No. A1 FIES kAR EER] EARME SEE i EEEEAE B ER | B [#Eekesases aeses BEAEKE| BEM DR ES BE
30 A A - TED B =& | 161 1 1 | 1.6 B LEAIA XEREES-H T e
FEEA k=F 0 &R
BEF 0 &Ar
— 0 &R
EEEB k=F 0 &R
BEF 0 &Ar
— 1 @i
31 BRI B A & R EE AR T.20 ~ 1.40 0.20] 1.30] 4.55] 6.05] 6.32 BE LEAA
32[:&RII RN =3 1811 B BEIEERAER 1.60 ~ 1.61 0.01| 1.61] 4.83] 6.33] 6.72 =8 BRI
33[BRII RN = 511 B EIEEMER 1.80 ~ 3.40 1.60, 2.60] 6.06] 7.56/ 8.01 =EE  [JERIET
34|&HIII RN = B )11 B EIEEMER 3.80 ~ 4.60 0.80| 4.20| 8.44| 9.94| 10.60 =g [JERIE
35[;B R RN = 18 )11 B EIE[EMNER 4.80 ~ 5.34 0.54] 5.07| 10.81] 12.31] 12. 72|H4. ORK|5ZEE  [ERIAT
36 BRI BRI s [BITHR EIEENER 560~ 6.00 0.40| 5.80| 12.66] 14.16] 14.21 WmEE B AIET
REAEERN] BRI E [BIIHR EIEE 9.00 ~ 9.60 0.60| 9.30] 21.97| 23.47| 23.94 WmEE | BAIET
38 BRI EAI B [BJITER EIEEE 10.20 ~ 10. 60 0.40| 10.40| 25.15| 26.65| 27.16 WEE | BAIET
RN BRI F [B)ITER EIEEE 11.60 ~ 11.80 0.20] 11.70] 29.74| 31.24| 31.80 =EE  [JERIET
40;E A1 BRI = [E 1B ESE A 12.60 ~ 13.20 0.60| 12.90| 33.75| 35.25| 36.08 =EE  [JERIET
AT ERI EAI B [BJITER EIEHRER 16.60 ~ 17.19 0.59| 16.90| 48.33] 49.83] 50.13 WmEE B AIET
B2 ERI BRI B [BJIER EIEHRER 17.20 ~ 18.00 0.80| 17.60] 50.00| 51.50| 52.30 WEE | BAIET
I RN =3 1811 B BEIE[ERAR 0.40 ~ 0.50 0.10| 0.45| 4.04] 5.54] 5.82 =8 BRI
44F 7011 RN =3 1811 B BEIE[ERAR 0.60 ~ 1.20 0.60| 0.90| 4.30| 5.80| 6.02 =8[BI
45 F 5011 RN BE 511 B EXEENARE 2.20~ 2.40 0.20| 2.30] 5.51] 7.01] 7.41 =g |JERIE
46 ;E 5111 RN = B )11 B EIE[ENER 2.80 ~ 3.43 0.63| 3.12| 6.48] 7.98| 8.97 =g [JERE
4715011 RN =3 1811 B BEIE[ERAR 3.60 ~ 4.80 1.20/ 4.20/ 8.85 10.35| 10.92 =8 BRI
48 E RN RN = B )11 B EIE[ER 4.80 ~ 5.34 0.54| 5.07| 10.81] 12.31| 12.96 =g [JERIE
49;E RN RN = B )11 B EIE[ER 5.40 ~ 6.20 0.80| 5.80| 12.66| 14.16| 14.60 =g BRI
50[;& RNl RN =3 1811 B EIE[ER 6.40 ~ 7.20 0.80| 6.80| 15.13] 16.63| 16.87|H4. OR/K|;EE [ERIAT
51 R BRI s [BIIHR I iEnl 8.00 ~ 10.20 2.20| 9.10| 21.54| 23.04| 23.43 WmEE | BAIET
52[:&HIII RN = B )11 B BIE| EER 10.20 ~ 10.40 0.20| 10.30| 25.15| 26.65| 27.11 =g BRI
53[B R RN =3 B )11 B BIE| EER 10.60 ~ 12.12 1.52| 11.36] 28.40/ 29.90| 30.86 =g BRI
54 R BRI s [BIIHR E3E EER 12.20 ~ 14.20 2.00| 13.20] 35.15| 36.65| 37.30 WmEE | BAIET
55 BRI BRI BE [BJITER EXE EER 15.00 ~ 15.20 0.20] 15.10 41.59| 43.09] 44.15 WmEE | BAIET
56 BRI A R [BJIER =3 EER 15.40 ~ 15.60 0.20] 15.50] 43.33| 44.83] 46.13 = B AIET
EIERME &EF 12 #Rr 6.74 km
BE 14 &7 11.19 km
— T km
57185011 RN ER| EAXM Bl E 0.80 ~ 1.20 0.40] 1.00] 4.46] 5.96] 6.17 mEE @ AIET REEER (1.00) &
58|:& RN RN EF| ExRRXME E= 10.80 ~ 11.20 0.40| 11.00| 27.76| 29.26| 29.74 =8 BRI REER (11.00) 288
59[E R ERIN] ER| EARME REER 19.20 ~ 19.60 0.40| 19.40| 57.60] 59.10] 59.57 =8 (BRI BIREF (19.40) 286
60 ;ZE A1 b BE| ERRXH BRERE 0.20 ~ 0.60 0.40/ 0.40] 4.04| 5.54] 5.82 =& [ERIE BIRER (0.50) Z&T
AR ki 3 &Ar 1.20 km
BEF 1 &Ffr 0.40 km
— AT km




